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Likevektsverdiene for verdiene, ¢=0,6, t=1/3, a=0.4,
c0=1=G=200, X=400, t0=0

*

 200-0,6x0+200+200+400 1000
1-0,6(1-1/3)+0,4 1

T*—0+1/3%1000 = 04+1/322970,6x0+200+200+400 _ 555 55

1-0,6(1-1/3)+0,4

C*=200+0,6(L000 —333,33) = 200 + 0, 6(1—1/3) x1000

200+0,6(1-1/3)200=0,6x0+2004200+400 (o oo

1-0,6(1-1/3)+0,4

Q*:O,4><1000:O,4200_0’6X0+200+200+400 _ 400

1-0,6(1-1/3)+0,4

Likevektsverdiene for verdiene, ¢=0,6, t=2/3, a=0,2, c,=1=300,
G=400, X=500, t,=0

 300-0,6x0+300+400+500 1500
1-0,6(1-2/3)+0,2 1

Y*

*—0+2/3*1500 = 1000
C* =300+ 0,6(1500 —1000) = 600
Q*=0,2x1500 = 750



